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Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 25 questions.

Please write down the serial number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
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question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i) Answers to questions carrying 1 marks may be from one word to one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii)  Answers to questions carrying 4-5 marks may be about 150 words.

(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. 1 U 1 G ANTA-I Sl & § 7 3@ §U Shael 3rad 1 ol e, TRarel sl Jw=
A TAT LA Bl T A F & 2 30 SR o G0 H HROT I |

Is management concerned only with doing the right task, completing activities and
achieving goals without taking into consideration the cost-benefit ? Give reason in

support of your answer.

2. USY % UH HE S ET Y GIST i RIS BT |

Define ‘organising’ as a function of management.

3. 39 GRS S I AT JATST ST Heweehd el FeTei TeTdT i Sg § Terdal el & |

Name the organizational structure which helps in increasing managerial and

operational efficiency.

4.  HETHS BREARMT F FRIeTE 6 JHH H Sooid HiT |

State the role of ‘Inspector’ in functional foremanship.
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5. Toxiia yey o 39 U1 T AT FAd §U 3oeid Hiteie St Haer ud fodtem ot o e gy

S HATE | 1

Name & state the aspect of financial management that provides a link between

investment and financing decisions.

6. I IoAE UIEAE fAreS STeS! uiEl aTel TS Sl Sod H1 I Y @l Al S wEE
TR T G FT @ A | FHEHAT B GAH I AT Ui 5T 800 ot At | FHE
% TIUUH yemeh, Giad AR & @IS S SR 78 o formn % 9 oe-fadrT gectt @ o
FoF N YT I | ik ST Al § ek W T STHA ST &1, 37 SN Foali i
TS T HET H GUR o T 36 U TR ARl e &t (o for |

AT St T YST STEATIHATS hl I i ATl e hl Tg-T | 1

‘Best Bulbs Pvt. Ltd. was manufacturing good quality LED bulbs and catering to local
market. The current production of the company is 800 bulbs a day. Sumit, the
marketing manager of the company surveyed the market and decided to supply the
bulbs to five-star-hotels also. He anticipated the higher demand in future and decided
to buy a sophisticated machine to further improve the quality and quantity of the bulbs

produced.

Identify the factor affecting fixed capital requirements of the company.

7. TOUUH % 39 B BT A TARY S R (Fo=) W P Hewaqul U § Gt € | 1

Name the marketing function which is concerned with the important decision of

managing inventory.
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8.  TeRX Wl SUHRT UF SUTHIR Sl h @R & feTd gHem Uk {99y g W S o | 39
g ¥ fafir= siiet & fafi= TR & 3 a5 2Test avg YR g o oo Sufeerd faskaehal
ol Afs STl &l @ TSt [ TR(d Sl &1 | ik 98 §M 36 oY § g g f |
3T T 3T 1 g0 STYad BT o1 foh HFaS 39 §HM W ST H 30T 3T 31k g9
F 7Y T & ek Ik W U Fgd W IS S Fl IHM &, Sk I ITHAT U

YIRS STeTsy Bl € |

3 A AFES ¥ 39 [aRIY IHH W ST S R YST | HFE A Far 6 98
ATUHRT H T Teh ATHR HT WA R TeT & ST TFHT 98 U i Tt T aell JohMET J el

T Gl |
e §RT TR {0 SUsfierT 21T 1 Soeid ity |

Manvendra always went to a specific shop to buy all consumable and non-consumable
goods. In this shop variety of products of different brands were displayed nicely and
the sales person available also gave good sales presentation if required. But this shop
was quite far off from his residence. His friend Annant always wondered why
Manvendra wastes so much time in going to that shop where as there were many big
brand shops situated near his residence having consumable and non-consumable

goods.

Annant asked Manvendra the reason of going to that particular shop. Manvendra told
that he was exercising one of his ‘Rights’ which he could not exercise in near-by big

brand shops.

State the consumer’s right which Manvendra had exercised.

9. Fra H foHEl i FETeT w THeu |
Explain any three limitations of ‘Planning’.

66/2/1 4

Downloaded-From:http://www.cbseportal.com



Downloaded From:http://www.cbseportal.com

10. &t HiE AR, SIE TR & @t § 3R FHE S owqy a9 ol 99 & @ € |
T | g & ST o1 31X A U el &1 7 @ & | 3T 37 o Roywn, T anedt-andy
3O TH AT, T B €, ¥ TR BRUT ¢ o 7T el |

fecror  uran T 3ok fudt ot 310 SHH=al & grgar § favard & o1 3R a9 3w
RIS F T TE A W S | T & AT o T H IR B HHT o | 3T HHART G
T |

(31) U Toheel ST THIT0T STeTe T TEE HIIT (5Toh ShRUT ST T=IHIesT 370 o83l ohi
T e B T V&l At |

@) IR (37) 9T H UgdH T Yedish SN o YR o Uk 3TIY ST T 3oeid hifoTy | 3

Mr. Mohan Kumar, is the owner of Jason’s Enterprises, carrying on the business of
manufacturing sanitary items. There is a lot of discontentment in the organization and
the targets are not being met. He asked his son Ritesh, who has recently completed his

MBA, to find out the reason.

Ritesh found that his father did not have confidence in the competency of employees
and was not seeking their advice or opinion. There was also lack of transparency in the

operations of the business. Thus, the employees were not happy.

(a) Identify any two communication barriers because of which ‘Jason’s Enterprises’

was not able to achieve its targets.

(b) State one more barrier each of the type identified in part (a) above.
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11. el u=wmess fefies & dF HHaR! — fomig — He SH1ET Uawe, SHYT — Heds Ueysh
qAT 3TN — fauur 3eger F oot Sig &t o o |

HIHT o T FIEHR Te-ash = TG G Taweh — foHIg bl et 3R 3 SR
foran Toh o e Bied ¥ Tect Al Wiell 9al ol WX 3 | forig = gera o o 9t erdie
TSI g & A e fovaig § | AT ISR § 39 SR S ST ST o 9 T STevas
H H M | T HEBR T THFH [T Ferd & T | ToRT 7 S [ped” & g
fopar e “fecielt weammest fafres” & fore fauom sreger o ug o1 fommoe feam | o et
% 10 Tk SUgeRT ARl i RAl § T%eT gU | ST o N U8 I HElerd H 3uered ST
ST ST ST O ek AT feam T |

(37) ST o URT T WA o ToTU fecill TredumestsT Teifies gRT UgerT STl o STTwAeh/ el
Al o A Fdy |

(@) SIS H YggH T 9ol & Tedieh A % Th-Ueh A FHl Seoid |l iy |

Vinod — The Human Resource Manager, Umesh — The Assistant manager and Ashok —

The Marketing Head of Hitashi Enterprises Ltd. decided to leave the company.

The Chief Executive Officer of the company called the Human Resource Manager,
Vinod and requested him to fill-up the vacancies before leaving the organization.
Vinod suggested that his subordinate Rajesh is very competent and trustworthy. If he
could be moved up in the hierarchy, he would do the needful. The Chief Executive
Officer agreed for the same. Rajesh contacted ‘Zenith Recruiters’ who advertised for
the post of marketing head for ‘Hitashi Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Umesh’s vacancy was filled-up by screening the

database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Hitashi Enterprises

Ltd.’ to fill-up the above stated vacancies.

(b) Also, state any one merit of each of the above identified source of recruitment.
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12. ot TS Tl G8A o % TAET | S TS AW I B @I AT | SR g A
Hifh 5 FERld T F AT T IO FX @1 A1 | 37F 30 A TR Jod Ff AR g
T A1 | <% 3 i 6 foh 9% Hek Sh” B AT HAT | G T TS o 79
T & “AgT b % 3T BT o TS | S B T &0l BH o A 576 A o 39T TG
N SAYHR Tl AT | A I TH G T B FT o T STh S & IR0 6 6 e
T fafaifsT e, T &t S USTTd o S off are e |

ITEY 3790 BT JodT 40% g T X 097 o 3191 1 TR Jod 379 8.4 g TId
AT | SO 2.4 g U 1 o AT feRar | S 1.2 e o it anifee e i § fRw
3T 1.2 g T8 W W o0 | YRAF Wiayid ue fafeme dig (S §R1 St Sorent 9
A Ue R S S aR 5 A S e g2 | Wl 7 Siee [ WA
STHTT ST |
IR 3T W Uil i 33Y FA U Fall gRT Fomfed =i 31 st & weane we
I IeoTE I | 3

Mr. Aditya Gupta was the chairman of ‘Vandan Bank’. The Bank was earning good
profits. Shareholders were happy as the bank was paying regular dividends. The
market price of their shares was also steadily rising. The bank announced taking over
of ‘Karur Bank’. Aditya Gupta knew that the share price of Vandan Bank would rise
on this announcement. Being a part of the bank, he was not allowed to buy shares of
the bank. He called one of his rich friends Nimesh and asked him to invest ¥ 6 crores

in the shares of his bank promising him the capital gain.

As expected, the share prices went up by 40% and the market price of Nimesh’s shares
was now X 8.4 crores. He had earned a profit of ¥ 2.4 crores. He gave ¥ 1.2 crore to
Mr. Aditya Gupta and kept I 1.2 crore with him. On regular inspection and by
conducting enquiries of the brokers involved, Securities and Exchange Board of India
(SEBI) was able to detect this irregularity. SEBI imposed a heavy penalty on Aditya
Gupta.

By quoting the lines from the above para identify and state any two functions that were

performed by SEBI in the above case.
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13.  UH Tl dF Teen-Feell o1 Sooig hifeT ST STHISRT Hie g1 Uiduel & fod e ST fhT S
& ST T TerhTre ol AT % SR H e gl € |

State any three directions which can be issued by the consumer court to the opposite

party if it is satisfied about the genuineness of the complaint.

14. V== &l el OR [aIodTatl s THeey |

Explain any four features of management.

15. ‘T TiRHey faiee o =roam &1 waeF Holfern § X @ oAt | gt &
SoTaRITeh a3t o 3T Y IR TS i |60 % 9T ! = YRT &l 370 3cel
Tt o T fam | P o IRA H GeaRT fosharstt it e foran fomemr gfcekaia < ar

Tee] SiH-cTTe ey &7 Alfeh STa 3TERgehdl &1 Wi &l I I i ST 9qeh |

SWe TeIfd o afaq Sreiiges aieroT & 3T i TS Ue THEAET |

‘Accent Electronics Ltd.” was operating its business in Malaysia. The company started
exporting its products to India when the Prime Minister announced relaxation in
import duties on electronic items. The company appointed retailers in India who had

direct on-line links with the suppliers to replenish stocks when needed.

Identify and explain the dimensions of business environment discussed in the above

case.
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16. Ul T foafee’ A foeR o U fUse & | STl %1 & d9gd ®H STauR Sucted o, 30Ut 26
fHioT 6t U T thedt T SR o 0T T | 39 8 % o A el 7o fefee %
T T T fRAT | Sl H AT bl ShIH o [oTT 3Tt i & (o0 it = 98 ot for
forar 7 et uREe H Whel, T, SR Tedli] S g o gieend o Sucted g
Sl
“UeT zog feafqee” 3 Sreafyss oy S1fTa e URY &< 5T | weh St Ufcantt speat =
A IR Tash T’ i ‘Ul T feAfaee’ gRT 3TfeTd fohT ST @ STcfees oy & hRoT
T O T o6 [T FeT |

Torg J U foh IHT & Al B e 32vdl sl Wit % forw ol franett o
g et T § | s HHAR! il 8 A € 16 DA [T Ui SaeErE! T8 STamaes © |
heel ST AT & Toh ST e § N1 Wi 2l & H1eqT 9 & eidl & | ST “UeT 2o
fatree TmmoT 1 sTavashdar vt fTemet ¥ vanfed g &t SFEd TR Rl §, fed
AT T I WelTE B & 3R TegwR e W &l S § |

(3) T % 3T UHR I TgaI-T ST GIET BT T 9MeT § vaied e hHi STHEL UL
o feafee & g T |

(F) AN (37) H U T TS % YR % Ueh T Hl Seei@ BT |

@) TH S Ge T Sooid HiT S del 2o fafiee” TamT 6l Goiftd s @t € | 4

‘Panda Trucks Ltd.” decided to set-up its new truck manufacturing factory in the
backward area of Bihar where very less job opportunities were available. People of
that area welcomed this effort of ‘Panda Trucks Ltd.’. To attract people to work in its
factory it also decided to provide many other facilities like school, hospital, market

etc. in the factory premises.

‘Panda Trucks Ltd.” started earning huge profits. Another competiting company asked
its production manager ‘Sanjay’ to investigate the reasons of earning huge profits by

‘Panda Trucks Ltd’.
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Sanjay found out that in both the companies there was systematic co-ordination among
the various activities to achieve organizational goals. Every employee knew who was
responsible and accountable to whom. The only difference was that in his organization
communication took place only through the scalar chain, whereas ‘Panda Trucks Ltd.’
was allowing flow of communication in all the directions as per the requirement which

lead to faster spread of information as well as quick feedback.

(a) Identify the type of organization which permits ‘Panda Trucks Ltd.” the flow of

communication in all the directions.
(b) State an advantage of the type of organization identified in (a) above.

(c) State any two values which ‘Panda Trucks Ltd.” wanted to communicate to the

society.

17.  <HUH. TASH [AHEE” T ol FHRTeTdT IRIHRRIAT FHHAT o | e & 3! 2 o 219 T
3O UTEehl ol TfT 3 o foTw fafir= et ot o st & | ot ot i o SFER 2 =
TATE STETST 5N AT Il AT STafch S9eh! 219 WS/t FRT AT Il of | THH 7 hael 3Taeh
TG G A7 3T F-F Sl AfeeT TSR Bl 3Thel f A HA F AT AHGT BT

qear ar |

Tk IRUTHEEY, 3THMT HeATHS 32l ol W o O 3§ WK ¥ H Fal &Y 9 &
ST S0 STUTRTT o7 | HET % g HREIBRT RIS g9 IR W Ul oAl | ST A9 Al
T AT, 9 foud | STk Q1Y == bl AU BT BT AT AT 9] aF | I8 i ferar wa
T wfasr & a1 Gfed T TS UH Y A HET AT I % GEI H GGUANT ST F
T TTeeh T &t ST STelt WKfel ol =T § BT | ST FehRIcHs TTe Uel 3% 29 & TS
TEET = 2T AT FRT ST ek | 1 HEAT R T T |

& HEASRT ATRERT FRT TG Ta-4 o H & el bl (RT3l ol 3o HiT |
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‘K.S. Energy Ltd.” was a energy efficiency consultancy company. To get the business
the team leader and his team used to travel to different states to give presentation to
their clients. As per the policy of the company, the team leader used to travel by air,
whereas his team travelled by road/train. It was not only time consuming but also at

times forced female team members to travel alone.

As a result, the subordinates were not acting in a desired manner to achieve
organizational goals. The CEO came to know about it. He called the team leader,
discussed the matter with him and changed the travel policy of the company. It was
decided that all the members including the leader would travel together in future and
would usefully utilize the travelling time in discussion with the subordinates about the
presentation to be given to the clients. This made a positive impact and every member

of the team started acting in a manner as desired by the team leader.

State the features of the element of the function of management used by the CEO.

18. <iem feitqee ‘o i+ aTelt Bl o1 forqur o< Y&T o, T ST JoTe 31X UTeeh ol U8
I ST ATeAl [I5Ra-SR Tarstt o HRUT 9gd UGg o | HoHT SR | U 30l T off
3R ST A ST T T oAl | TR AT % FROT HHAT  fosha-Sw Fara i
& AT &% Y AT | 3k UROTRaEY UTeshi o W1 HHT o T T & T a7 ST
I TR H HHA BT GG & TE | I AANGH o A STeAF HH EH T 3T T
T IR H Tafad geT | foeeiuu W g 9ar = foh fashataeea densti i eI § el 3@
THHT HROT AT | 3Td: FHHAT A SHAT 6l AR | 30T Bfel ol AT F TS THHT IR ol A
% T et T U OTT | S UROTHEEY TS | ST ohl T | FER ST |

(3) SWER avTd fefd 7 fouuesd R ST S Bfd H gURA & [0 Tge 9T %

Y hl HH ddTd g¥ IHhT 3ol % :?lQ |

(&) W (37) H UedH T T DT YHeT 9 T | 4
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Diksha Ltd. was marketing ‘Dish-Washers’ which were very popular due to their
quality and after-sale services provided to the customers. The company was a leading
company in the market and earning huge profits. Because of huge profits the company
ignored its after-sale services. As a result its relations with the customers got spoiled
and the image of the company was damaged in the eyes of the public. Top
management became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring after-sale services was its reason. Therefore,
the company took all possible measures to protect and promote its image. As a result

the goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the above case

to improve its images.

(b)  Also explain role of the tool as identified in part (a).

19. WgHS ISR § T YSTt FEA o el 9R fafem 1 Seeig it |

State any four methods of floatation of new issues in the primary market.

20. 399 gd eId 7 SogeTeet Uittt § 1ot feilt o i | 39 $ FHA Ak I 1T HUSl
! Tl FEE ° B AT | 9 T I ° Y T o1 | 39 98 (v forn i a9 5=
FAIT FHUE ol @F I Th (HIUT ThIE TS HET | 3 TS 3299 TH e (R g 37w
3 I Y T P HE-ASHT TS |
IR T 239 WA o H A=t AT O 80% AT ST a1 o1 | Jg o foram - fof
FHedT I SI9 HUET, °T, T TN &1 WA ol IUR W BRI S | 394 98 off i feran
T ST9t ST o AT W SR o [quvE & T Ot 3Trervass =)o &1 uTer fohar S |
3T I Hage & ®4 § Rawr & e forar e Scaree fransti @i Fomfed & &
frefea adient o1 oft forg forar | Rawr = o o) & el W HH=RET Sl SEvashdl i TR
A AT foaRoT ot AR fRar | ST arett Jmient o fere fend Rt w aman faf
SCART % 3T e & TR | ot grer forar |
theedt U | g R U U S Aol HHETEr W 200 U {57 & S St o off
HE |

TrEa AT S Uil Sl 38y I §U SWIET drad [ AT o WRRT
TR TS HHEAEY |
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Two years ago Nishant, completed his degree in Textile Engineering. He worked for
sometime in a company manufacturing readymade garments. He was not happy in the
company and decided to have his own readymade garments manufacturing unit. He set
the objectives and the targets and formulate action plan to achieve the same.

One of his objectives was to earn 80% profit on the amount invested in the first year. It
was decided that raw materials like cloth, thread, buttons etc. will be purchased on two
months credit. He also decided to follow the steps required for marketing the products
through his own outlets. He appointed Ritesh as a production manager, who decides
the exact manner in which the production activities are to be carried out. Ritesh also
prepared a statement showing the requirement of workers in the factory throughout the
year. Nishant informed Ritesh about his sales target for different products areawise for
the forthcoming quarter.

A penalty of T 200 per day was announced for the workers who found smoking in the
factory premises.

Quoting lines from the above para identify and explain the different types of plans

discussed.

21. T, AT H T FEALE FHEA! § HRRT & | ool it KA 9§ 36 @R 91 | 59 396 &R
1 A= D T, A I = foh 3Q fasar € | S9! fafd sgd A o, ofd: 39 Srmdret
H ol fopaT T SR Sedi 39 T S Gelle &1 | 3HP U Al 5 39 g faia H
T ftEd ger ST | oI = G & Se % T HEEIREl B IR % U Yo JH
Y UTAT X §U Ueh Teaiad gorT &t | 59 HeTvaeeh ol 39 9 | 310 gaT, a9 38 Hl &
31T YHIROT 3 ek 3T-UIT i GHIE HT ST ST |
(37) IR ST § STENE T SR FHI0T F T4 Ufekial sl YT HITT |
@) IR THOT i iRl 31 faearst o Seehg i |

@ foi §R 9T B qEiitd [ ST At foheal 31 Hoat i Uge iy | 5
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Yash is working in a multinational company in Noida. He was running temperature for
the last many days. When his blood was tested, he found positive for chickengunia. He
was admitted in the hospital and a blood transfusion was advised by the doctors as his
condition was very serious. One of his colleagues sent a text message to his immediate
superior ‘Vineet’. Vineet immediately sent a text message to the employees of the
organization requesting them to donate blood for Yash. When the General Manager
came to know about it, he ordered for fumigation in the company premises and

cleanliness of the surroundings.
(a) From the above para quote lines that indicate formal and informal communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated by Vineet to the society.

22. Uy o AN Ud HI=r S o TRy 6 Seoid ST |

State the relationship between ‘planning’ and ‘controlling’ functions of management.

23. ‘UaY % fggmar % HEwe W TRl o aTet fheel aR fagat i HHeiey |

Explain any four points that highlight the importance of principles of management.

24. Wl fefee U Totaie axgett st Mol s € | gFen 79T US 3 120 o ¥ | st
T TR T 3T A X 0.5 o | Taferditor 3 e et @ T 80 NG I SR TEwEshar
off | 29k foTT AT 3 10% Fomod Fitha sieh fod Ui T | =me] ad o &eer =
fafaifsTa it o) ¥ 16 &g ot ST fRaT | 397 40% i 3T ¥ 3T T foha |

(3) oo HIFT oh fafaienior o STRTeniiar i 0 3797 319 | o §aT a1 &1 g8 | 370!
TOMHTST &l W & F IR |

@) g & T YSi e & AN h T H HEAT FRT FOGA & 0 & geT | F=r
T T Iooid I HifT |
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Sakshi Ltd. is a company manufacturing electronic goods. It has a share capital of
% 120 lakhs. The earning per share in the previous year was < 0.5. For diversification,
the company requires additional capital of ¥ 80 lakhs. The company raised funds by
issuing 10% debentures for the same. During the current year the company earned

profit of ¥ 16 lakhs on capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost in respect of earning per share on

diversification. Show your calculations clearly.

(b) Also state any three factors that favour the issue of debentures by the company

as part of its capital structure.

25. ST A ™ TGRI H §HH ¥ STH 1 UF Uohe TIRT | Uohe WX I T8 GOl W &l o |
TYHT STANT b I8 SR & TE | STHIHT YT AFET o S SE e wRE '
TTerehT 5T i 3R 3 e HeA TS |
(3) SR @l § 39 Hewaqul U] il Uedl-T [STaeh! [aqumehdl §RT SeeerT &l T8 & |
@) W (37) H YgaH T Uee] o HEl 1 G&T § FU HifSw |

Pooja purchased a packet of juice from the local grocery shop. The information
provided on the packet was not clear. She fell sick on consuming it. She filed a case in

the District Forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect which has been neglected by the marketer in the

above case.

(b)  Explain briefly the functions of the aspect identified in (a) above.
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